

## Text S6. Bias in effect estimates with imperfect sensitivity and specificity under non-differential classification

### Definitions:

P1 True probability of disease in intervention group

P0 True probability of disease in control group

P1\* Measured probability of disease in intervention group

P0\* Measured probability of disease in control group

PR True prevalence ratio between intervention vs. control ( $P1/P0$ )

PD True prevalence difference between intervention vs. control ( $P1-P0$ )

PR\* Measured prevalence ratio between intervention vs. control ( $P1^*/P0^*$ )

PD\* Measured prevalence difference between intervention vs. control ( $P1^*-P0^*$ )

x1 Probability of false negatives in intervention group

x0 Probability of false negatives in control group

y1 Probability of false positives in intervention group

y0 Probability of false positives in control group

$$P1^* = P1 - P1 x1 + (1-P1) y1$$

$$P0^* = P0 - P0 x0 + (1-P0) y0$$

### Assumptions under non-differential misclassification:

$$x1 = x0 = x$$

$$y1 = y0 = y$$

$$P1^* = P1 - P1 x + (1-P1) y$$

$$P0^* = P0 - P0 x + (1-P0) y$$

### Scenario 1: Imperfect sensitivity, perfect specificity ( $x > 0, y = 0$ )

$$PR^* = \frac{P1 - P1 x}{P0 - P0 x} = \frac{P1 (1 - x)}{P0 (1 - x)} = \frac{P1}{P0} = PR$$

$$PD^* = P1 - P1 x - (P0 - P0 x) = P1 (1 - x) - P0 (1 - x) = (1 - x) (P1 - P0) = (1 - x) PD$$

Scenario 2: Perfect sensitivity, imperfect specificity ( $x = 0, y > 0$ )

$$PR^* = \frac{P1 + (1 - P1) y}{P0 + (1 - P0) y} = \frac{P1 + y - P1 y}{P0 + y - P0 y} = \frac{P1(1 - y + y/P1)}{P0(1 - y + y/P0)} = \frac{P1}{P0} \cdot \frac{1 - y + y/P1}{1 - y + y/P0} = PR \cdot \frac{1 - y + y/P1}{1 - y + y/P0}$$

when  $P1 < P0, PR^* > PR$   
when  $P1 > P0, PR^* < PR$

$$PD^* = P1 + (1 - P1) y - [P0 + (1 - P0) y] = P1 + y - P1 y - (P0 + y - P0 y) = P1(1 - y) - P0(1 - y) = (1 - y)(P1 - P0) = (1 - y) PD$$

Scenario 3: Imperfect sensitivity, imperfect specificity ( $x > 0, y > 0$ )

$$PR^* = \frac{P1 - P1 x + (1 - P1) y}{P0 - P0 x + (1 - P0) y} = \frac{P1 - P1 x + y - P1 y}{P0 - P0 x + y - P0 y} = \frac{P1(1 - x - y + y/P1)}{P0(1 - x - y + y/P0)} = \frac{P1}{P0} \cdot \frac{1 - x - y + y/P1}{1 - x - y + y/P0} = PR \cdot \frac{1 - x - y + y/P1}{1 - x - y + y/P0}$$

when  $P1 < P0, PR^* > PR$   
when  $P1 > P0, PR^* < PR$

$$PD^* = P1 - P1 x + (1 - P1) y - [P0 - P0 x + (1 - P0) y] = P1 - P1 x + y - P1 y - (P0 - P0 x + y - P0 y) = P1(1 - x - y) - P0(1 - x - y) = (1 - x - y)(P1 - P0) = (1 - x - y) PD$$